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Pour ceux qui ont le même soucis voiçi le nouveau code qui fonctionne:

 :root{
  --sidebar-hover-width: 8px;
  --sidebar-visible-width: 300px;
}

#sidebar-box #sidebar {
  min-width: var(--sidebar-hover-width) !important;
  width: var(--sidebar-hover-width) !important;
  max-width: var(--sidebar-hover-width) !important;
  opacity: 0 !important;
  position: absolute !important;
  display: block !important;
}

#sidebar-box:hover #sidebar {
  min-width: var(--sidebar-visible-width) !important;
  width: var(--sidebar-visible-width) !important;
  max-width: var(--sidebar-visible-width) !important;
  opacity: 1.0 !important;
}

#sidebar-box #sidebar-header {
  visibility: collapse !important;
}
#sidebar-box:hover #sidebar-header {
  visibility: visible !important;
}

#sidebar-box {
  z-index: 1000 !important;
  -moz-margin-end: calc(-1 * var(--sidebar-hover-width)) !important;
  position: relative !important;
  opacity: 0 !important;
}

#sidebar-box:hover {
  -moz-margin-end: unset !important;
  opacity: 1.0 !important;
}
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#sidebar-box ~ #appcontent {
  -moz-margin-start: calc(-1 * var(--sidebar-hover-width)) !important;
}

#sidebar-box:hover ~ #appcontent {
  -moz-margin-start: calc(-1 * (var(--sidebar-visible-width) + var(--sidebar-hover-width))) !important;
}  
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